
Subject: Re: openvz vrrp (and ucarp)
Posted by mose on Sun, 26 Feb 2012 04:47:20 GMT
View Forum Message <> Reply to Message

After extensive testing, I have come to the same conclusion. veth is not passing uCarp's VRRP
packets to CT0. The container is bridged to CT0's eth0. With tcpdump, I can see uCarp packets
getting to eth0 in the container, but they don't come out the veth on the other side.

This is rather odd, because VRRP packets from the network make it across the bridge from CT0
to the container. I would think it would work both ways. I have confirmed that multicast is possible
from the container with ssmping (which uses UDP), but nothing happens when the IP protocol is
VRRP.
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